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BECE-002 : INDIAN ECONOMIC DEVELOPMENT : 
ISSUES AND PERSPECTIVES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer all the sections as per the directions given in 

each section. 

SECTION-A 

Answer any two questions from this section in 

about 500 words each : 	 2x20=40 
1. Explain the role of trade in economic 

development. What are the two approaches that 

have been attempted in India in this regard ? 

2. How is infrastructure related to economic 

growth ? What factors influence the two--way 

linkage between the two ? 

3. Discuss the long term problems of agriculture in 

4. Distinguish between the concepts of child labour 

and bonded labour. Flow does the National 

Child Labour Policy (1987) address the issue of 

child labour in India ? 
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SECTION-B 

Answer any four questions from this section in 

about 500 words each : 	 12x4=48 

5. Contrast the 'ancient Indian thoughts on 

development' with the 'modern economic 

thinking'. 

6. What is 'dependency ratio' in the context of 

demographic structure of a country ? What has 

been its trend in India in the recent past ? 

7. What are 'mutual funds' ? How can 'mutual 

funds' be strengthened ? 

8. What is meant by 'crop insurance' ? What are 

the main features of National Agricultural 

Insurance Scheme, 1999 ? 

9. With what objectives the Competition Act, 2003 

was passed ? What does the Competition 

Amendment Bill (2007) further seek to achieve ? 

10. Briefly explain any six methods of protection in 

the context of trade. 
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SECTION-C 

Answer any two questions from this section in 

about 100 words each : 	 6x2=12 

11. How did Ranade identify the 'stage of growth' 

of India ? 

12. Write a note on the status of Telecom Network 

in India. 

13. Distinguish between Revenue Budget and 

Capital Budget. 

14. What is meant by Equity Capital ? 
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